Paper: B.E_B.Tech

Set Name: | Set 08

Exam Date: | 26 July 2022

Exam Shift: | 2

Langauge: |Urdu

Topic: Mathematics-Section A
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Topic: Physics-Section A
Item No: 32
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Question Type: | MCQ
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Topic: Physics-Section A

Item No: 33
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Item No: 34
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Topic: Physics-Section A
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Topic: Physics-Section A
Item No: 40
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Topic: Physics-Section A
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Topic: Physics-Section A
Iltem No: 43
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Topic: Physics-Section A
Item No: 47
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Item No: 49
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Question: A€ g IS S 5 3 g (S e 43 B IS Ae ) eSS g 3K e g0
A: 4:3
1
B: (3)3
4
C: §
1
D: (E)S
3
Topic: Physics-Section A
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Item No: 54
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Topic: Physics-Section B
Iltem No: 57
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Topic: Chemistry-Section A
Item No: 61
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Iltem No: 62

Question ID: 1449662

Question Type: | MCQ

S e A5 S cliad Sl £ S8 0 & 0

CaF, A
Q " CECIQ B
n:
uestio CaBr, .C
Cal, D
A: B<A<C<D




B: A<B=C<D

C: AZBzPB2{

D: A CZRBED
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